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L3. (a) Connect the circuit shown. Set the FG controls so that vy is a triangle-wave of 100 Hz varying

between 0 V and +5 V, i.e. +2.5 V dc offset. Hence display, first the ic versus vgg characteristic,
and then the ig versus vgg characteristic, on the scope.
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L3.

(b) Using the FG as a variable dc voltage source, adjust the dc offset control so that V¢ has the dc
values in the following table:

Br = BF Ic [nA] Vic [Volts de] | Vg [Volts de] | Vg [Volts de] | AVgg[Volts de]

0.100

0.200

0.500

1.00

2.00

5.00

Complete the table by measuring Vyg and Vg with the digital scope (mmean or dc value) or DMM.
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